
Ex 10A) h9 Plyin With Numbes

9 Dele27ap

5 8-C1S5)+6
EL8-3 6]
C18 33
21

Lo2-(ua4
8-2+8

6+8
38-2

62

which of he ollowiasoumbe p diiaibleQS-Fin
b

188 Yes

enmlula Aad a the aumber and he.ck he cun
diisihlehy 3

Sun qt t343-29Sum

ei is divisle by 9

5t3tA4-a 53,a1a 1
No, i i not diuiaibleby

(i2496 Y

Sum o al dqs 949468=27

Neg is diuisle y 89



i) bo,31=N
Suaoa digita 40+0+ 2t1HY= 10

No DD,314 snot diviible by 1

Findheh e e Jollouig oumbr oye iiaible b,

Fos mula hek tho unts diait 0 bS

est is divisible by

i66 666
No, itis iuisible fbys

7S5Yes

0 No
No i a0tivisi blng byS


